Parameter Scenario Observed Expected

as/ay on-shell  [—1.13,0.80] [—0.76,0.76]

any Ty [—0.33,0.24] [—0.50,0.50]

Iy =T [-0.21,0.18] [—0.25,0.25]

ay/ on-shell ~ [—0.12,0.26] [—0.24,0.31]

any Ty [—0.098,0.202] [—0.21,0.25]

Ty =TM  [—0.089,0.189) [—0.17,0.18]
(A1v/]a1]) cos (pa1) (GeV)  on-shell —[—oo, —130] U [160,00] [—o0, —180] U [210, 0]
any I'y  [—oo, —160] U [180,00] [—o0, —250] U [240, 0]
Iy =T [—00, —250] U [170,00]  [—o0, —260] U [250, c0]
(AZ"/Jay]) cos <<pi}) (GeV) on-shell [—co,—170] U [100,00]  [—o0, —200] U [130, 0]



